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6) Find the relative extrema of f(x)= i;— —x” —3x. Use the 2 Derivative Test. No calculator.
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7) Find the relative extrema of f(x)= (x> —1)3. Use the 1* Derivative Test. No Calculator.
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8) The graph of f”, the derivative of a function fis shown. 96’

Find where the function fis concave up, where it is concave
down and where it has points of inflection.
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9) Using a calculator, find the values of x at which the graph

of y = x"e" changes concavity.
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'10) Find the points of inflection of the following functions and determine wEere the function is concave up and

where it is concave down. No calculator.
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